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JE £z RS54 /38— AR BES | RMBest | R1vb
1 Ei-LyRSLA 12 |53 LAP | 32.087 | 15p
2 Sugar-#)1| 15 |53 LAP | 32.067 | 14p
3 HE-IYLY 18 |53 LAP | 32.445 | 13p
4 f&k@-CcL7 16 |53 LAP | 32.261 | 12p
5 aA—9x-INE 17 |53 LAP | 31.993 | 11p
6 IYRHE 13 |53 LAP| - 10p
7 =Y 14 |52 LAP| 32452 | 9p
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gz RS54/3— IR AEH | REBest| K1k
1 EQLE SR> ;! 24 |52 LAP| 32.098 | 15p
2 BE-As 25 |52 LAP| 32.385 | 14p
3 a—r9x-INE 29 |51 LAP | 31.897 | 13p
4 LyRSL-#)11 27 |51 LAP| 31933 | 12p
5 Sugar-SV LY 26 |51 LAP| 32.308 | 11p
6 Ef3t-cL7 23 |51 LAP| 32.429 | 10p
7 HE-ny 28 |50 LAP | 32.608 | 9p
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T.T. Al B1 A2 B2
RSA/\— h—bk | IERL [RAUN H—k | JEG |[RAUh A=k | IR [RAH h—k | IBRL [RaN H—k | JER |[Raoh &EF
a—zy 1 1 15p | 12 1 15p 5 6 10p 40p
=5 5 4 | 12p | 2 3 13p 13 3 13p 38p
Sugar 1 2 14p 4 2 14p 9 7 9p 37p
% 3 5 1p | 11 5 11p 11 2 14p 36p
LS 2 7 9 13 4 12p 2 1 15p 36p
B 6 9 Tp 5 1 15p 10 2 14p | 36p
&M 10 3 13p | 9 6 10p 1 5 11p 34p
cL7 4 8 8p 14 2 14p 2 4 | 12p | 34p
LyRS L 4 11 5p 3 3 13p 6 1 15p | 33p
j = 6 6 10p 1 7 9p 4 4 12p 31p
SYLY 5 12 | 4p 6 4 | 12p 12 3 13p | 29p
E| 3 10 | 6p 8 7 9% 8 7 9 | 24p
e 10 | 14 | 2p 12 5 11p 3 5 11p | 24p
INEF 2 13 | 3p 10 6 10p 14 6 10p | 23p
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T.T. A3 B3 A4 B4
RS54 8— h—bk | 1Bz [RAN A= | JBG |RAUK h—b | B [RAN h—k | JBE |RAUk h—b | B RN &5
a—xy 1 1 150 | 12 1 15p 8 4 12p 42p
bzl 3 3 13p | 13 2 14p 4 5 11p 38p
YRy 2 6 10p | 5 3 13p 13 3 13p 36p
LyRS L 4 7 9% 11 4 12p 5 1 15p 36p
5 5 5 11p | 14 6 10p 3 2 14p 35p
cL7 4 8 8p 9 3 13p 5 2 14p | 35p
A= 6 10 | 6p 8 1 15p 2 3 13p | 34p
f&H 10 4 [ 12p| 3 5 11p 11 6 10p 33p
Sugar 1 2 14p 4 7 9 14 7 9 32p
SVYLY 5 9 Tp 10 2 14p 12 6 10p | 31p
Ef 6 12 | 4p 6 4 | 12p 1 1 15p | 31p
| 3 11 5p 1 5 11p 6 4 | 12p | 28p
mng 10 | 13 | 3p 2 7 9% 10 5 11p | 23p
INEF 2 14 | 2p 12 6 10p 9 7 9 | 21p
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